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Simulation (n=100000)

p50=46.152
p99=100
p99.5=100
p100=100

Range: [30.040 - 100]

OK Step1 (NormalGenerator)

mean=10
std_dev=2

Some Work ⬆

p50=18.020
p99=24.608
p99.5=25.347
p100=31.131

Range: [4.696 - 31.131]

OK Step2 (NormalGenerator)

mean=8
std_dev=2

Roll 1 (UniformGenerator)

lower_bound=10
upper_bound=20

Safely Random ⬆

p50=45.038
p99=58.079
p99.5=58.665
p100=59.965

Range: [30.034 - 59.965]

Roll 2 (UniformGenerator)

lower_bound=20
upper_bound=40

Erratic (BernoulliGenerator)

prob=0.1
cost=100

Flaky Latency ⬆

p50=0
p99=100
p99.5=100
p100=100

Range: [0 - 100]

Failing Step (FailingGenerator)

failure_rate=0.1

Troublesome ⬆

p50=0
p99=0
p99.5=0
p100=0

Range: [0 - 0]


